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Welcome to the British Winter Simultaneous Pairs. Thank you for playing. I hope you enjoy the event and also 
the commentary provided by a leading expert. The commentator for this set of hands is Heather Dhondy. 

This is the start of the 2020 Simultaneous Pairs season, so it’s a new year for prizes. Every host club will be 
entered in to a prize draw made at the AGM in November. So the club at which you have played today has      
a chance to win one of ten cash prizes of £250. The prize for the overall winners of each Sim Pairs is £100, and 
we wish you luck in trying to win it.  

You can find all the full details, results and last year's prize winners at www.ebu.co.uk/sims/ 

You can earn Blue points and they are awarded to the top third of the field. Don’t be too impatient for the 
results! Provisional results will appear quickly but they won’t be finalised and nor will the Master Point awards 
until all results are in and score corrections have been made. This can take up to three weeks. It really helps  
us if you can keep your scorecard for that period. Clubs should keep the travellers if still used.  

Coming up in February (4th & 6th) is the Bridge England Simultaneous Pairs. This year money raised will be      
to help support Junior Bridge. I hope you will support this event and look forward to you playing. 

Ian Payn, Chairman EBU 

 K 9 2 
 A J 10 6 3 
 A 6 2 
 7 4 

 J 10  Q 8 7 6 5 3 
 8 5 2  9 7 
 Q 8 5  10 7 
 A Q J 8 2  K 9 6 

 A 4 
 K Q 4 
 K J 9 4 3 
 10 5 3 
 

HCP  Makeable contracts 
         NT 
 12   N - 5 5 - 2 

10  5  S - 5 5 - 2 
 13   E - - - - - 
    W - - - - -  

Board 1 : Dealer North : Love all 
West North East South 
 1 Pass 2 
Pass 2 Pass 4 
All pass 
 
This hand is not a good advertisement for opening 1NT with a five-card major.  

To start with, the opponents can cash the first five club tricks, however in 
practice, a spade will probably be led against either game contract. Now 
declarers in 3NT could cash out for nine tricks, but they are likely to try         
the diamond finesse and go down, since they will realise that +400 is not  
going to get them a good score when +420 at least is available in hearts. 

4 is a more straight-forward affair. Declarer will take a high ruff in dummy  
on the third round of spades and try the diamond finesse for the overtrick, 
taking ten tricks when it fails. 
 

 7 5 4 
 Q 9 8 6 5 3 2 
 A 6 
 6 

 6  A K J 9 8 
 K 10 7  A J 4 
 J 5 3  10 9 8 
 Q J 7 4 3 2  A 9 

 Q 10 3 2 
 - 
 K Q 7 4 2 
 K 10 8 5 
 

HCP  Makeable contracts 
         NT 
 6   N - 1 - - - 

7  17  S - 1 - - - 
 10   E 1 - - - 1 
    W 1 - - - 1  

Board 2 : Dealer East : NS vulnerable 
West North East South 
  1 Pass 
1NT Pass 2 NT Pass 
3NT All Pass 
 
 
North-South will do well to remain silent and let their opponents get on     
with the bidding. No one can make anything much, and nothing works for 
East-West in 3NT. They only have 24 points between them but are likely         
to reach it on the auction above. West will be encouraged by the six-card suit, 
but unfortunately there is a bad break. 

If North-South do venture into the auction and buy the contract, they will 
score poorly for going minus, as many East-West pairs will also be failing. 
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 Q J 7 5 
 7 5 
 K Q 7 5 4 
 5 2 

 A 10 9 6  K 4 3 2 
 J 10 8  A K 9 
 8  A 10 9 3 
 A Q 9 7 4  8 6 

 8 
 Q 6 4 3 2 
 J 6 2 
 K J 10 3 
 

HCP  Makeable contracts 
         NT 
 8   N - - - - - 

11  14  S - - - - - 
 7   E 4 2 3 5 4 
    W 4 2 3 5 3  

Board 3 : Dealer South : EW vulnerable 
West North East South 
   Pass 
1 Pass 1 Pass 
2 Pass 3NT Pass 
4 All Pass 
 
 
Despite the bad trump break, 4 is still the best contract for East-West. It will 
make ten or eleven tricks depending on the play, but declarer does best to 
take the club finesse, cash the top tricks, and attempt a cross-ruff. 

3NT is more problematic even though all suits are guarded twice. Declarer will 
probably attempt to establish clubs and will get to nine tricks, but that will not 
score well against the spade games. 
 
 
 

 K 10 8 
 Q 7 3 
 9 8 2 
 J 9 7 4 

 J 5  6 3 
 K 10 8 5  J 6 4 2 
 K Q 5  A 10 7 4 
 A 10 8 3  K Q 5 

 A Q 9 7 4 2 
 A 9 
 J 6 3 
 6 2 
 

HCP  Makeable contracts 
         NT 
 6   N - - - 1 - 

13  10  S - - - 1 - 
 11   E 2 3 3 - - 
    W 2 3 3 - -  

Board 4 : Dealer West : All vulnerable 
West North East South 
1NT Pass Pass 2 
Pass Pass Dbl Pass 
2NT Pass 3 Pass 
3 All pass 
 
 
East will pass West’s 1NT opening bid but must be prepared to back in when 
2 from South is passed back round. Now West should start a scramble by 
bidding 2NT over partner’s take-out double in an attempt to find a four-four 
fit. East’s 3 is their lowest four-card suit, and West will correct to 3. 

Against 3, the defence have two tricks in each major suit, but declarer       
has little problem taking the rest. This will out-score those going one down   
in 2. 
 
 

 J 8 6 4 
 A 5 2 
 J 9 6 
 Q 9 8 

 K 9 2  Q 7 5 3 
 K 9 7 4 3  Q J 
 7 5 4  K Q 2 
 J 7  K 10 5 3 

 A 10 
 10 8 6 
 A 10 8 3 
 A 6 4 2 
 

HCP  Makeable contracts 
         NT 
 8   N 1 1 - - 1 

7  13  S 1 1 - - 1 
 12   E - - 1 - - 
    W - - 1 - -  

Board 5 : Dealer North : NS vulnerable 
West North East South 
 Pass 1NT Pass 
2 Pass 2 All pass 
 
 
There is nothing much making by either side on this deal, so you will do best 
to stay quiet if you are North-South. With two balanced hands there is no 
particular reason to get active in the bidding. 

What do you lead against 2 with the South cards? A trump is a possibility,  
as is ace and another spade. This is the defence to beat it legitimately. Now 
North does best to take the first trump and give South a ruff, allowing      
South to get off lead safely with a trump. If North wins the second trump and 
gives partner a ruff, South has a problem getting off lead, and will need to 
underlead one of the aces to avoid giving a trick to declarer. 
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 8 
 9 5 4 
 K Q 7 6 5 
 K 8 5 2 

 K 10 9 7 6  J 4 
 Q J 2  A 8 6 
 3 2  J 8 4 
 Q 9 3  J 10 7 6 4 

 A Q 5 3 2 
 K 10 7 3 
 A 10 9 
 A 
 

HCP  Makeable contracts 
         NT 
 8   N 1 4 4 2 3 

8  7  S 1 4 4 2 3 
 17   E - - - - - 
    W - - - - -  

Board 6 : Dealer East : EW vulnerable 
West North East South 
  Pass 1 
Pass 1NT Pass 2 
All Pass 
 
 
 
North-South have a combined 25 count and 3NT is a good contract, but       
the difficulty is reaching it. I think that the auction given above will be               
a popular one, and it isn’t clear which of them can do anything different. 

In 2, declarer has only one entry to dummy (without blocking the diamonds) 
so should use it to play a trump to the king. When these are three-three with 
the ace right, declarer will emerge with ten tricks. 
 
 
 

 A 9 5 
 Q 9 8 5 
 K J 
 Q 9 8 4 

 10 4 3 2  K Q 8 7 
 K 6 2  3 
 A Q  10 7 6 5 2 
 J 10 7 2  K 6 3 

 J 6 
 A J 10 7 4 
 9 8 4 3 
 A 5 
 

HCP  Makeable contracts 
         NT 
 12   N - - 3 - 1 

10  8  S - - 3 - 1 
 10   E 1 1 - 2 - 
    W 1 1 - 2 -  

Board 7 : Dealer South : All vulnerable 
West North East South 
   Pass 
Pass 1NT Pass 2 
Pass 2 Dbl Pass 
2 3 All Pass 
 
This is a part-score battle which North-South are likely to win in 3, as they 
have the superior fit and balance of the high-cards. If North-South do press  
on to 3 and manage to get away with it undoubled one down, they will  
score  well. 
In 3, North will win the spade lead and take the losing trump finesse. After 
drawing trumps, it is impossible to misguess diamonds, and now declarer 
must decide whether to ruff down the K or play for it to lie with West. If  
East has taken any action in the bidding, then playing to ruff it down must    
be better. 
 

 5 4 
 J 9 8 
 A 10 6 4 2 
 J 7 2 

 A 10 8 3 2  K Q 6 
 A K 10 4 3  7 6 
 9  K J 8 7 3 
 10 5  Q 8 3 

 J 9 7 
 Q 5 2 
 Q 5 
 A K 9 6 4 
 

HCP  Makeable contracts 
         NT 
 6   N 1 - - - - 

11  11  S 1 - - - - 
 12   E - 1 3 4 1 
    W - 1 3 4 1  

Board 8 : Dealer West : Love all 
West North East South 
1 Pass 2 Pass 
2 Pass 3 Pass 
4 All pass 
 
 
 
This should be a simple hand to bid with 4 making ten tricks a popular result. 
The auction above will be common, and I would expect a club lead.  

South will switch to a major suit, but declarer has time to ruff a heart which   
is all that is needed to establish the suit. With trumps breaking as well, North 
will need to be awake when declarer attempts to slip a diamond through for 
the over-trick. 
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 Q 7 
 J 10 7 2 
 A 9 8 4 2 
 J 4 

 A 9 5 3  K J 10 8 2 
 9 3  Q 6 5 
 7 3  Q 6 
 K Q 9 5 3  A 10 6 

 6 4 
 A K 8 4 
 K J 10 5 
 8 7 2 
 

HCP  Makeable contracts 
         NT 
 8   N - 3 3 - - 

9  12  S - 3 3 - - 
 11   E 3 - - 3 - 
    W 3 - - 3 -  

Board 9 : Dealer North : EW vulnerable 
West North East South 
 Pass 1 Pass 
3 All pass 
 
 
 
This is another hand where you do better by opening a five-card major than 
1NT. 3 has the obvious four losers however that should be it as there is no 
reason to play against the odds in trumps. 

If East opens 1NT that will probably end the auction and is not a happy spot. 
The defence can cash the first nine red suit tricks against it, and they shouldn’t 
have too much trouble provided South leads either the J, taken with the ace 
by North, or a top heart and diamond switch. 
 
 
 

 K J 10 9 8 7 2 
 10 9 
 - 
 10 9 8 6 

 6 4  5 
 7 4 2  6 5 
 A 10 8 7 2  Q J 6 5 4 3 
 K 5 2  A J 7 4 

 A Q 3 
 A K Q J 8 3 
 K 9 
 Q 3 
 

HCP  Makeable contracts 
         NT 
 4   N - - 5 5 - 

7  8  S - - 5 5 - 
 21   E 2 4 - - - 
    W 2 4 - - -  

Board 10 : Dealer East : All vulnerable 
West North East South 
  2 Dbl 
4 4 Pass 4NT 
Pass 5 Pass 5 
All Pass 
 
This is an exciting deal, and I expect plenty of variety. It is easy to get 
overboard on the North-South cards, especially if the opponents are cramping 
your bidding space by pre-empting in diamonds. However, if you do bid a slam 
the spotlight falls on the defence to find the right opening lead. If they don’t 
cash the club tricks right away, North-South have thirteen major suit winners. 

If East-West end up buying it in a diamond sacrifice, they will need to guess 
very well in both minor suits to make ten tricks. More likely is that they will 
lose a trick in each minor to go with the three major suit losers, and the 
sacrifice will prove too expensive. 
 

 10 2 
 6 4 
 A K 8 4 
 A J 10 6 3 

 Q 9 4  A K J 8 7 5 
 K J 10 5 2  A Q 8 
 J 10 5  6 
 7 4  Q 5 2 

 6 3 
 9 7 3 
 Q 9 7 3 2 
 K 9 8 
 

HCP  Makeable contracts 
         NT 
 12   N 3 3 - - - 

7  16  S 3 3 - - - 
 5   E - - 4 4 - 
    W - - 4 4 -  

Board 11 : Dealer South : Love all 
West North East South 
   Pass 
Pass 1 1 Pass 
2 Pass 4 All Pass 
 
What action do you take with the East cards after a third in hand 1 opening 
by North? It is a close call between 1 and a double followed by bidding 
spades, which shows a strong jump overcall. On this hand it doesn’t matter 
much as you will reach 4 via either route. 

The defence will need to cash out on the first three tricks to stop any 
overtricks. If South leads a club (partner’s suit), North should try a top 
diamond and get a count signal from partner, and now needs to switch back 
to clubs. This isn’t so easy as partner’s “low” club lead is the eight, and the 
diamond count signal could be from three rather than five. I expect several 
pairs to end up with an overtrick on this board. 
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 K 10 8 6 4 2 
 K 7 2 
 6 4 3 2 
 - 

 9  A J 
 10 9 5 4 3  Q J 6 
 Q 10  A J 9 
 Q J 9 7 3  A K 8 4 2 

 Q 7 5 3 
 A 8 
 K 8 7 5 
 10 6 5 
 

HCP  Makeable contracts 
         NT 
 6   N - 3 - 4 - 

5  20  S - 3 - 4 - 
 9   E 4 - 2 - 1 
    W 4 - 3 - 1  

Board 12 : Dealer West : NS vulnerable 
West North East South 
Pass 2 Dbl 4 
Pass Pass Dbl Pass 
4NT Pass 5 All pass 
 
 
Sitting in the East seat, would you believe that it is your side that need to 
sacrifice against the opponent’s game? No, neither would I, however 4 has 
only two diamonds and a trump to lose. 

If East-West get to 5, that will fail by a trick if the defence take their heart 
ruff. If they fail to do this, they will need to play diamonds in time from the 
North hand, as otherwise it will make since declarer can establish hearts and 
won’t need the diamond finesse. 
 
 
 

 K Q 4 3 
 Q J 10 3 
 6 
 A K 7 4 

 A J 10 9 8 7 5  - 
 A 8  K 6 5 2 
 9 4 3  A K 8 7 5 2 
 6  Q 8 2 

 6 2 
 9 7 4 
 Q J 10 
 J 10 9 5 3 
 

HCP  Makeable contracts 
         NT 
 15   N - - - - - 

9  12  S - - - - - 
 4   E - 4 1 3 2 
    W - 4 1 3 2  

Board 13 : Dealer North : All vulnerable 
West North East South 
 1 1 2 
4 All pass 
 
 
What call would you make with the West cards after the auction 1 – 1 –2? 
I confess I would jump to 4 which is not the winning action on the board.  

It is not a terrible contract, however, even when partner has a void in spades, 
requiring just a two-two diamond break. No luck today, but I expect there will 
be many others going the same one down. 

If instead you are in 5, the defence in practice do best to lead a trump. Now 
unless declarer has x-ray vision they will fail as they are short of one ruff in 
dummy. 
 
 

 Q 10 4 
 Q J 3 
 A K J 10 5 
 9 5 

 A J 7 6  K 5 3 2 
 5 2  A 7 
 Q 7 6  2 
 J 10 6 2  A Q 8 7 4 3 

 9 8 
 K 10 9 8 6 4 
 9 8 4 3 
 K 
 

HCP  Makeable contracts 
         NT 
 13   N - 3 2 - - 

8  13  S - 3 2 - - 
 6   E 4 - - 4 2 
    W 4 - - 4 3  

Board 14 : Dealer East : Love all 
West North East South 
  1 2 
Dbl 3 3 All Pass 
 
 
 
This will be a competitive part-score hand. Both sides can make major suit 
contracts at the three-level, and East-West even make four if they drop the 
singleton king of clubs, but there is no particular reason to do that. 

North-South will do well if they bid on to 4 and go one down. They might    
go two down if they misguess the diamonds, however even that is fine unless 
they are doubled. 
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 7 6 4 3 
 9 6 3 
 A 8 6 5 2 
 2 

 A Q 8  10 2 
 J  Q 10 8 7 5 4 
 Q 4 3  7 
 K Q 8 7 6 4  J 9 5 3 

 K J 9 5 
 A K 2 
 K J 10 9 
 A 10 
 

HCP  Makeable contracts 
         NT 
 4   N - 3 - 3 1 

14  3  S - 4 - 4 1 
 19   E 4 - 2 - - 
    W 4 - 2 - -  

Board 15 : Dealer South : NS vulnerable 
West North East South 
   1 
2 Pass 3 Dbl 
Pass 4 All Pass 
 
North-South are likely to get to 4 if South opens 1. Either North will raise 
spades straight away over West’s 2, or will bid it when partner reopens with 
a double showing a strong hand. 

There is little the defence can do to beat 4. Even if they lead a diamond      
an get a ruff, that is only their third defensive trick, and a heart will be 
discarded from the South hand on the long club. A better option is to lead       
a singleton heart. There is no chance of getting partner in for the ruff, 
however with few entries to dummy, declarer might need to take a good   
view in trumps. 
 
 

 J 2 
 A 9 8 4 2 
 K 10 6 
 10 7 2 

 A 3  K Q 9 6 5 
 10  K J 3 
 9 5 4 3  Q 2 
 A K 9 8 5 4  Q J 3 

 10 8 7 4 
 Q 7 6 5 
 A J 8 7 
 6 
 

HCP  Makeable contracts 
         NT 
 8   N - 1 2 - - 

11  14  S - 1 2 - - 
 7   E 4 - - 3 3 
    W 4 - - 3 3  

Board 16 : Dealer West : EW vulnerable 
West North East South 
1 Pass 1 Pass 
2 Pass 3NT All pass 
 
What would you bid with the East hand after partner has opened 1 and 
rebid 2 over your 1? 3NT is not ideal with your diamond holding, but it       
is practical. 

It is a fortunate make since the defence are unable to get to their four 
diamond tricks. North will do best to win the diamond lead and switch to        
a heart, forcing declarer into a guess, but is it? 

Putting the king up is really the only chance. If South holds the ace, the 
contract should always be going down as there is the communication to cash 
four diamond tricks and a heart. Therefore, without the ace, North should 
simply be continuing the diamonds. 
 

 10 7 6 2 
 - 
 K 10 4 2 
 A Q 10 8 6 

 J 9 5 4 3  A 
 10 8 6 5 3  K J 2 
 9 6  J 8 7 5 
 9  K J 7 5 4 

 K Q 8 
 A Q 9 7 4 
 A Q 3 
 3 2 
 

HCP  Makeable contracts 
         NT 
 9   N 3 4 1 3 3 

1  13  S 3 3 1 3 3 
 17   E - - - - - 
    W - - - - -  

Board 17 : Dealer North : Love all 
West North East South 
 Pass 1 1 
Pass 1 Pass 2 
Pass 2NT Pass 3 
Pass 3NT All pass 
 
What call do you make with the South cards after East’s 1 opening? 
Although you are a little strong, I prefer to overcall 1. If you double, partner 
will probably jump in spades and you may struggle to find the only making 
game of 3NT. 

A club lead is probably the best start for the defence, but East is going to find 
the defence very uncomfortable regardless. If the ace of spades is cashed, East 
will not be endplayed with it but will have impossible discards to find on the 
second and third rounds of the suit. In practice there will be plenty of pairs 
making the contract and even an overtrick if they read the hand. 
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 10 4 3 
 A 10 5 
 10 8 5 
 K Q 10 5 

 A K 5  Q 8 6 
 Q 8 7 3  J 6 
 K J 9 6 4  A 3 2 
 2  A J 8 6 3 

 J 9 7 2 
 K 9 4 2 
 Q 7 
 9 7 4 
 

HCP  Makeable contracts 
         NT 
 9   N - - - - - 

13  12  S - - - - - 
 6   E 2 4 3 2 3 
    W 2 4 3 2 3  

Board 18 : Dealer East : NS vulnerable 
West North East South 
  1NT Pass 
2 Pass 2 Pass 
3NT All Pass 
 
 
The contract will be almost universally 3NT here, and with nine easy winners 
on the lie of the diamond suit, it all becomes a matter of the overtrick.  

South will need to avoid a heart lead or else declarer will always be able        
to establish a trick in that suit. Before all you Souths feel too bad about 
leading one, it is what I would have led! If you do lead something else, 
declarer will struggle to come to a tenth trick, and you will score well if you 
hold East to just making. 
 
 
 

 A Q 10 7 3 
 2 
 5 3 2 
 Q 8 7 6 

 K 4  J 5 
 K Q 5 4  10 8 3 
 J 8 7 6  A 10 9 4 
 K 5 2  A 10 9 3 

 9 8 6 2 
 A J 9 7 6 
 K Q 
 J 4 
 

HCP  Makeable contracts 
         NT 
 8   N - - 1 4 1 

12  9  S - - 1 4 1 
 11   E 1 1 - - - 
    W 1 2 - - -  

Board 19 : Dealer South : EW vulnerable 
West North East South 
   1 
Pass 1 Pass 2 
All Pass 
 
 
Game is not a good contract here, and with a combined nineteen count           
I would not expect many pairs to reach it.  

To make, it requires bringing in the trumps for no loser as well as a fair          
bit of cross-ruffing. If East leads a trump, declarer will have enough entries    
to establish the fifth heart for the tenth trick. A club will also concede ten 
tricks by establishing a trick in the suit. On a diamond or heart lead, however, 
declarer will probably only come to nine tricks unless they can see through  
the cards. 
 
 

 Q 9 
 9 6 3 
 A K 10 8 5 3 2 
 7 

 10 4  7 6 3 2 
 J 8 7 5  K 10 4 2 
 Q 4  J 7 
 K Q 6 5 4  J 10 9 

 A K J 8 5 
 A Q 
 9 6 
 A 8 3 2 
 

HCP  Makeable contracts 
         NT 
 9   N 2 7 3 7 7 

8  5  S 2 7 3 7 7 
 18   E - - - - - 
    W - - - - -  

Board 20 : Dealer West : All vulnerable 
West North East South 
Pass 3 Pass 3NT 
All pass 
 
I would expect the bidding to go as above at most tables. The only really   
good slam is 6 by South! If played by South, you are protected from a heart 
lead through the AQ and can stand a trump loser and still make the contract. 
6NT is in jeopardy on a club lead, however the presence on the ten of 
diamonds in the North hand improves the chances of brining in the suit for   
no  loser. 

When the diamonds are two-two, however there are thirteen tricks     
available in spades, diamonds or no trumps, and the key is to play in no 
trumps for the extra ten points. If anyone bids a slam, it will be their lucky  
day. 
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 Q 4 
 K 9 6 5 4 
 J 7 4 2 
 10 4 

 J 10 9 7  A K 5 
 8  Q J 10 7 2 
 K Q 5 3  8 6 
 A Q 8 2  J 6 3 

 8 6 3 2 
 A 3 
 A 10 9 
 K 9 7 5 
 

HCP  Makeable contracts 
         NT 
 6   N - - - - - 

12  11  S - - - - - 
 11   E 3 1 3 3 3 
    W 3 1 3 3 3  

Board 21 : Dealer North : NS vulnerable 
West North East South 
 Pass 1 Pass 
1 Pass 2 Pass 
2NT All pass 
 
 
 
I expect most pairs to play in a no-trump part-score here. Even in East      
opens the bidding, which is far from certain, West does not have a hand         
to drive game, with a singleton in partner’s suit. 

The cards lie favourably for declarer, with the diamond ace onside, the spades 
coming in for four tricks and the club finesse working. The overtrick can come 
from establishing a heart. 
 
 
 

 K 9 6 
 Q J 10 3 
 6 5 2 
 K 7 5 

 5  J 10 4 
 A 9 7 6 5 4  K 8 
 A K Q 10  J 9 4 3 
 6 3  A J 9 4 

 A Q 8 7 3 2 
 2 
 8 7 
 Q 10 8 2 
 

HCP  Makeable contracts 
         NT 
 9   N - - - 3 - 

13  10  S - - - 3 - 
 8   E - 4 3 - 1 
    W - 4 3 - 1  

Board 22 : Dealer East : EW vulnerable 
West North East South 
  Pass 2 
3 3 4 All Pass 
 
 
 
Both sides have makeable contracts at the three-level, so it is worth East-West 
pressing on to 4 in theory, but will North-South make 3? They have two 
diamonds, a heart and a club to lose, and must avoid a second club trick, 
which is unlikely once trumps are three-one. 

In the meantime, East-West have a decent looking game on their way, that     
is until trumps are four-one. I expect 4 going down one to be a common 
result. 
 
 
 

 K Q 5 4 3 
 Q 8 5 4 
 A J 4 
 6 

 10 8 6 2  A 
 A J 10 6 2  9 
 9 8  Q 7 5 3 2 
 K 8  A Q J 5 4 2 

 J 9 7 
 K 7 3 
 K 10 6 
 10 9 7 3 
 

HCP  Makeable contracts 
         NT 
 12   N - - 2 2 - 

8  13  S - - 2 2 - 
 7   E 4 2 - - 2 
    W 4 2 - - 2  

Board 23 : Dealer South : All vulnerable 
West North East South 
   Pass 
Pass 1 2NT Pass 
3 All Pass 
 
 
It is hard to see much variation from the auction above, and yet I expect there 
will be somehow! 

Playing against an auction such as this, you know that declarer will be 
attempting to ruff out dummy’s second suit, and so a trump lead is 
recommended. This will ensure that declarer is unable to take a diamond    
ruff in hand and will lose three tricks in the suit. On this deal it is not crucial  
as partner holds four trumps so shortening dummy’s trump holding works    
as well. 
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 10 9 
 K Q 6 5 
 K Q 7 4 
 K 7 2 

 A 7 4  Q J 8 5 3 
 A J 9 3  4 2 
 A 10 9 5 2  3 
 A  J 10 5 4 3 

 K 6 2 
 10 8 7 
 J 8 6 
 Q 9 8 6 
 

HCP  Makeable contracts 
         NT 
 13   N - - - - - 

17  4  S - - - - - 
 6   E 2 - 1 3 - 
    W 2 1 2 3 1  

Board 24 : Dealer West : Love all 
West North East South 
1 Pass 1 Pass 
2 Pass 2 Pass 
4 All pass 
 
I expect plenty of pairs to over-reach themselves on this deal. Would you 
respond to a 1 opening bid with the East hand? The textbooks will tell      
you that you need six points, however you have a hand where you would    
like to improve the part-score if possible, so it is practical to respond 1. You 
may change your mind when partner propels you to 4, however! 

On a club lead, declarer will embark on a cross-ruff, cashing both red aces   
and ruffing minor suit card back and forth. If it was South who held four 
diamonds or North who held the king of spades, this line would work, 
however when South is able to over-ruff the fourth round and switch to           
a trump, declarer will be a trick short. 
 

 A K 9 8 7 
 7 6 
 K Q 
 10 9 6 2 

 10 6 5 2  Q 3 
 10 5 2  K Q J 9 8 4 3 
 5 3  J 8 7 2 
 A K J 8  - 

 J 4 
 A 
 A 10 9 6 4 
 Q 7 5 4 3 
 

HCP  Makeable contracts 
         NT 
 12   N 4 2 - 3 - 

8  9  S 4 2 - 3 - 
 11   E - - 2 - - 
    W - - 2 - -  

Board 25 : Dealer North : EW vulnerable 
West North East South 
 1 3 Dbl 
All pass 
 
There will be some variety here but few pairs making anything in either direction. 

East is at unfavourable vulnerability so will probably settle for a weak jump 
overcall of 3 over North’s 1. South’s double for take-out looks normal and 
West does best to pass. If West raises hearts, they will almost certainly play 
4x which is expensive. 

What should North do if West passes South’s double? There are few good 
options except to pass, and they can take five top tricks to defeat it by one   
for an excellent score. If North-South push on in clubs, they need a favourable 
lie of trumps to make five. On this occasion they are out of luck and will 
probably be doubled as well. 
 

 8 
 K 8 4 
 A J 10 9 7 4 
 Q 8 5 

 K J 10 5 4 3  A 9 7 
 Q  J 10 7 5 3 2 
 K Q 8 5  - 
 J 6  A 10 7 2 

 Q 6 2 
 A 9 6 
 6 3 2 
 K 9 4 3 
 

HCP  Makeable contracts 
         NT 
 10   N - 2 - - - 

12  9  S - 2 - - - 
 9   E 1 - 2 4 2 
    W 1 - 2 4 2  

Board 26 : Dealer East : All vulnerable 
West North East South 
  1 Pass 
1 Pass 2 Pass 
4 All Pass 
 
 
What call do you make with the East cards? You are very light for a one level 
opener, but both pass and 2 seem worse descriptions. Opening 1 certainly 
gets the job done regarding reaching 4. 

Now it becomes a matter of the overtrick. There is little that North-South can 
do to stop eleven tricks – only the Q lead stops it genuinely! However, in 
some situations declarer will need to take a good view in trumps to make 
eleven. I expect the field to be divided between 4 making ten or eleven with 
the odd pair playing in 2 if that opening bid is selected. 
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 J 9 7 6 2 
 A 4 3 
 10 7 
 K 7 6 

 Q 5 4  A K 8 
 9 7 6  Q 8 2 
 K 8 5  A J 9 6 
 Q 10 5 2  9 4 3 

 10 3 
 K J 10 5 
 Q 4 3 2 
 A J 8 
 

HCP  Makeable contracts 
         NT 
 8   N - - 1 1 - 

7  14  S - - 2 1 - 
 11   E 1 1 - - 1 
    W 1 1 - - 1  

Board 27 : Dealer South : Love all 
West North East South 
   Pass 
Pass Pass 1NT All Pass 
 
This will be a popular contract, but how many tricks will be made?  

If South chooses a diamond lead, that gets the defence off to a slow start, but 
they still have time to cash their six defensive tricks later, and seven tricks     
to declarer is the likely result. 

On a heart lead, the defence can cash the first four tricks in the suit, and          
if they also take the two clubs, declarer will have the rest. However, if they 
exit passively with a spade, declarer will have to decide whether to play on 
clubs or diamonds. If they choose diamonds they will go down, but if they play 
on clubs they will make. 

I expect it to make more often than not, but a few pairs will go down 
unluckily. 

 10 8 6 
 5 4 2 
 7 
 A 10 8 7 6 5 

 -  K Q J 9 7 5 3 2 
 J 8 7 6 3  A 10 
 A 10 4  K J 8 
 K Q J 3 2  - 

 A 4 
 K Q 9 
 Q 9 6 5 3 2 
 9 4 
 

HCP  Makeable contracts 
         NT 
 4   N - - - - - 

11  14  S - - - - - 
 11   E 1 3 3 5 3 
    W 1 2 3 4 3  

Board 28 : Dealer West : NS vulnerable 
West North East South 
1 Pass 1 Pass 
2 Pass 2 Pass 
3 Pass 3 Pass 
3NT Pass 4 All pass 
 
 
From East’s point of view, the contract is always going to be played in spades, 
but will it be game or slam? Slam is not a good proposition, as there is a heart 
and a spade to lose, and the diamond guess to negotiate. 

If a diamond is led, that will resolve that guess, however the defence can now 
get a diamond ruff and declarer will need to have taken a ruffing club finesse 
at trick two to make an overtrick. 
 
 
 

 Q 4 2 
 9 2 
 Q J 4 
 A K 8 7 2 

 A 6 3  10 5 
 K 6 5 4  Q J 10 7 
 10 5  A 9 7 6 2 
 10 9 5 4  J 3 

 K J 9 8 7 
 A 8 3 
 K 8 3 
 Q 6 
 

HCP  Makeable contracts 
         NT 
 12   N 3 - - 4 2 

7  8  S 3 1 - 4 2 
 13   E - - 1 - - 
    W - - 1 - -  

Board 29 : Dealer North : All vulnerable 
West North East South 
 1NT Pass 2 
Pass 2 Pass 3NT 
Pass 4 All pass 
 
It is important to play in the eight-card major suit fit on this deal. If you play in 
3NT you will fail on the obvious heart lead as it will establish three tricks in the 
suit to go with the two outstanding aces. 

In 4, it takes a heart lead to hold the contract to ten tricks since otherwise 
there is time to establish a long club tricks to discard a club from the North 
hand, or a diamond lead to collect he ruff in the West hand. 

I expect the majority to opt for 4, which will be mainly making ten tricks with 
the odds pair making an overtrick especially if played by South. 
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 8 
 Q 10 7 2 
 A 10 6 2 
 A K 8 2 

 10 9 6 5 4  K 2 
 K J 4  8 3 
 J 8 4 3  K 9 7 5 
 5  J 10 9 7 6 

 A Q J 7 3 
 A 9 6 5 
 Q 
 Q 4 3 
 

HCP  Makeable contracts 
         NT 
 13   N 4 2 6 4 4 

5  7  S 4 2 6 3 4 
 15   E - - - - - 
    W - - - - -  

Board 30 : Dealer East : Love all 
West North East South 
  Pass 1 
Pass 2 Pass 2 
Pass 4 All Pass 
 
 
This will be a popular auction to the normal contract of 4. The key is how 
many tricks are made. Although twelve tricks are possible, I don’t expect many 
pairs to make that many without any assistance from the defence. 

A reasonable line looks to be to win the likely club lead in the South hand and 
play the ace of spades and ruff one. Now you will come to eleven tricks either 
by ruffing another spade in dummy and losing two trump tricks, or by playing 
a trump to the ace and one back towards the queen, and losing one trump 
and a long spade. 
 
 

 10 7 5 
 10 5 
 K Q 9 8 
 K 9 6 2 

 J 9 4  A 8 2 
 A Q J 7 6 3 2  K 9 8 4 
 6 3 2  A 10 
 -  Q 10 8 5 

 K Q 6 3 
 - 
 J 7 5 4 
 A J 7 4 3 
 

HCP  Makeable contracts 
         NT 
 8   N 4 3 - 1 - 

8  13  S 4 3 - 1 - 
 11   E - - 4 - 3 
    W - - 4 - 3  

Board 31 : Dealer South : NS vulnerable 
West North East South 
   1 
3 Pass 4 All Pass 
 
 
 
The auction is likely to begin with 1 and a 3 overcall by West. The auction 
has become a little high for North, especially without four spades, so will 
probably pass. Now East will raise to 4, and will South come back in with      
a double? On the hand it is the winning action as 5 is only one down, where 
4 is an easy make. 

5 suffers from a trump loser, a diamond and a spade. Declarer has enough 
entries to dummy in diamonds to lead towards the king and queen of spades. 
 
 
 

 10 7 6 
 10 2 
 K 10 8 4 
 A 5 3 2 

 8 5 2  A 9 4 3 
 K 8 5  Q 9 7 6 
 9 5 3 2  Q 
 9 8 6  K J 10 7 

 K Q J 
 A J 4 3 
 A J 7 6 
 Q 4 
 

HCP  Makeable contracts 
         NT 
 7   N 2 4 2 2 3 

3  12  S 2 4 2 2 3 
 18   E - - - - - 
    W - - - - -  

Board 32 : Dealer West : EW vulnerable 
West North East South 
Pass Pass 1 Dbl 
Pass 1 Pass 2 
Pass 3NT All pass 
 
 
North-South need to reach 3NT on this deal, but it may not be so easy if East 
opens in third seat. South must double East’s 1, but what do you do when 
North responds 1? You are certainly worth another move, and whether it is 
to bid 2 or raise diamonds, North is maximum for the simple 1 response 
and needs to show the extra strength with a jump to game. 

There is no lead to hurt declarer, and the singleton queen of diamonds 
removes any guess in that suit. It is now a simple matter of leading towards 
the Q for the ninth trick. 
 

 


